CMGT 350 : Exam #3 Fall 2022
Show all work for full credit. You may work with ONE other person. One page of notes (Front & Back). Tables.
Algebra and Trig Cheat Sheets.

Due: End of Class Today

Name: 50'\)4’1'01/\




1. Draw the shear and bending moment diagrams for the beam due to the loading shown. Locate the section(s)
with zero shear and determine the moment(s) at the section(s).

| Kip| g4

| kip
Loading .
Diagram L l —l 7 L U
A *‘H - g
—3 M4 —|—3 | —— b~ ———| — 33—
ﬂy: "hlS’KrfS gj: 3"'75/(7,}-
3.2
32325 " e
$12°
- 975 - 5%
) ' i (3.2 (53
@\) W""’* ] z 507 Mprr
@
Vikip) \ < ;
3(<) = -3 — 325 % — 278 N
A3 3 (-2-75)
- | e e
17.-03‘7’;
"2'15
9.25
451
i
M (Ktp--&l) | '
/ Gi2<
k.




2. A6-in x 10-in nominal size rectangular southern pine timber beam has a 20-ft simple spah. The beam is
subjected to a 800 Ib/ft uniform load applied to the entire span and a 200 |b concentrated load at midspan.
The allowable deflection is 1/240 of the span length. Determine whether the beam is satisfactory for

deflection.
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